
Produktintegration zweier trigonometrischer Funktionen 

Bestimmen Sie ∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
1

2
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u(𝑥)= sin(x)        u‘(𝑥) =  cos(𝑥) 

v (𝑥)=   sin(x)         v‘(𝑥) = cos (x)  

 

Zur Erinnerung ∫ 𝑢′ ∙ 𝑣
 

 
= [𝑢 ∙ 𝑣] - ∫ 𝑢 ∙ 𝑣′

 

 
                                                    Wir addieren 

∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
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=  [sin (𝑥) ∙ sin (𝑥)]0
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− ∫ sin(𝑥) ∙ cos(𝑥) 𝑑𝑥
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  |     +∫ sin(𝑥) ∙ cos(𝑥) 𝑑𝑥
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2 ∫ sin(𝑥) ∙ cos(𝑥) 𝑑𝑥
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 = [sin (𝑥) ∙ sin (𝑥)]0
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2 ∫ sin(𝑥) ∙ cos(𝑥) 𝑑𝑥
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2 ∫ sin(𝑥) ∙ cos(𝑥) 𝑑𝑥
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  = 1 ∙              1              −        0 ∙             0  |:2 

  ∫ sin(𝑥) ∙ cos(𝑥) 𝑑𝑥
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Bestimmen Sie ∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
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Nun aber mit folgender Einteilung: 

u(𝑥)= -cos(x)        u‘(𝑥) = sin(𝑥) 

v (𝑥)=   cos(x)         v‘(𝑥) = -sin (x)  

Zur Erinnerung ∫ 𝑢′ ∙ 𝑣
 

 
= [𝑢 ∙ 𝑣] - ∫ 𝑢 ∙ 𝑣′

 

 
   

∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
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= [− cos(𝑥) ∗ cos(𝑥)] − ∫ −cos(𝑥)∙ (−sin(𝑥) 𝑑𝑥)

1

2
𝜋

0
  

∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
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0
= [−(cos(𝑥))2] − ∫ cos(𝑥)∙ sin(𝑥) 𝑑𝑥
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         |   + ∫ cos(𝑥)∙ sin(𝑥) 𝑑𝑥
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2 ∙ ∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
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= [−(cos(𝑥))2]   

2 ∙ ∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
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𝜋))2 − (−cos (0))2   

2 ∙ ∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
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= −(0)2 + 12  

2 ∙ ∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
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∫ sin(𝑥)∙ cos(𝑥) 𝑑𝑥
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